EARAROBREBRT —5 XN—ZXBISH—F

202268568 (B) SEAHI1H

/R S

C24+—+=

\(9&1@1 = ‘[%EH%F&] | 5 100 w8

[AE%] 1 7% :1,000,000 § ~ 237 :400,000 @  37&:250,000 3  43&:150,000 @ . 5 3&:100,000 M

B RS RS R HE B5F (F28) FA4L (5% | BBIEML | E3F |[SIEY | AT | #AE | B FIR) / BF / S£ERS
1 3| EYMHTUIL 5 5%?3 1:(2_3).7 -1 397 - | 7 (4_672) %EEWE (KH)
RiVvRIVTA B:FRIAVFIU— e}
S P = _ tv 8 | REKE 1:28.7 3-4-3  [39.3| — 3 1462 | AREEEZ (KH)
RiFPI1F4ZVF— B:AY—MNU—R #Rtt RUMI J7—L4
°ry — 4 6 | MR 1:29.1 14-8-6  39.2| — 4 462 | FREATE (KH)
3l 2| IMLND 56.0 %) (7)) | IR
R:IALINSRYIR B:NSYRLUF o EHILEES
AP — ) — B4 | EEEX 1:29.1 6-3-4 [39.8| — | 13 | 462 |EEEX (KH)
41813 NME=Yv—7 56.0 @E) @) | AT
RS/ v—0 B:IT7YIHFIT—-)LR ==
S —r73 - v 5 | e 1:29.3 5-6-5 |39.6| — 11 | 39 |BEEH GH)
50101|¥v—2vv1= 5.0 & Oy |mEwmE
RiTJUA=Y B:Yv—TT7VT ok {Bth
\ 8 6 | EEEER 1:29.6 8-10-8 |39.5| — 5 426 | MEHR (KH)
EH 4 AIL7zVibAL11 54.0° (112 (-7) |RE#E=E
R:IVHh—0 B:94FYLA2 BREH BT RU—h—RSVF
M) —T v it 4 | HFRY 1:29.8 2-2-2 | 40.6| - 1 495 | SeAFAARL ()
717111 IJU—IvIX 54.0 m (-q) | BNt
RPIPITAFVR B:IRIWEFY nESH8
o= =~ ~ P =EE= ] :30. -7 . - BB ()
8 6| KSTv2O—> v 5 et 1 (31(; 0 8-7-9 | 40.1 8 :(1)@19) ;”%EE%EIZ
R4 I RD—=LEY B:UYEYRRSIY RS
~ o “EE_H :30. -14- . - EAE (KH)
95|77 | TVIA MILR 4 4 ape 1(73?:; 10-14-12 | 39.4 12 (ﬁf;) %gﬁ?
R:Z28OVIFUI—Y B:IWIT7—TUAR #HBEIT7—L
= 4 5 | FH#* 1:30.1 12-13-14 [39.6 | - 9 415 | TREEEE (KH)
Eﬂ gre e @e) () | PEAE
R:FHVPITTRY B:LIaA/4—)b H B
SIS R : —9- - SHE— (K
nlzln n57L547 to4 z& 1(.13/02.)2 7-9-10 | 40.1 14 :13(3 %Eﬂ;ﬁﬂ( )
RNNVTSY B:5TovIb EARRS
= =~ ERE : -11- - BRE K#H)
12058 | FLSA5VF— o4 e 1(.332‘.)4 11-11-11 | 40.2 2 (4:321) i
Rib—trya—sv §:Ja35v AR PHEYS
o, — 1 — . BAIRIE :30. -12- . - EE (1))
1318114 ANAZIWSAX ' 56.0 (11 310/46) 1312713 1 402 10 (4_619) %#UI'E%E
RIZAROVIUT—Y BRINASIRAY b "HBI7—L
S W= 44 | BEK 1:30.6 4-5-7 409 - 6 532 | @EEL (W)
1408 10| XM ¥avPYY= 56.0 N w3 |EEE
R:ivI7T4 85y Kt BE
@ 11— —BRIEfI
13—7F—
20— — 3,11,9,10,1,13,12, (4,6) ,7,8,5,14,2
IT=5r= 3,11,13,9,10,1,6,2,12,4,8,14,5,7
40—F— 3,11,9,13,1,2,10,4,6,12,8,7,14,5
0 ILRE
BB 3 1,480 JA R 3-9 1,080/ & 3-6 1,560 3ER 2-3-9 12,390
B B 3 2904 2=3) 1,540 (=] 3-6 2,120 3Es SFO=) 89,260MH
9 2104 2-9 1,010 5 & 3-9 5,420
2 310 =51 3-9 14,220

ABIC OV TRUTEREERRODDZE. THRIIZEL.



